Module 2 - Linear Equations Progress Exam 1

6. First, find the equation of the line containing the two points below. Then, write the
equation as y = mx + b and choose the intervals that contain m and b. N = -4 X = 33
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7. Write the equation of the line in the graph below in the form Ax + By = C. Then,
choose the intervals that contain A, B, and C.
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A. A€0.5,084], Be€[-1.01,-0.67], and C € [11.5,12.4] %

B. Ac[1,1.42], B€[0.851.58], and C € [-3.4,0.4] (y +4

C. A€ [-4.07,-299], B¢€[-3.01,-267], and C € [5.3,10.2]
[
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D. A€[253,3.79], Be€[-4.72,-3385], and C € [11.5,124] 3y+3 ($x)=-3(3)
@ A€[3.04,403), Be[274,35], and C € [-9.3,-87 3y+ Yx = -q
2 ,’AX+BY=
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Hx+3y= -9
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8. Find the equation of the line described below. Write the linear equation as y = mx +0b
and choose the intervals that contain m and b.

SORTITOTE
Parallel to 8x — 5y = 13 and passing through the point @ TOSOLUE_ FoRr
g —41 \ 8x - Sy =13 Y‘_.x +b b!
m=Ls =50 Ve e« s
A. me[l,5and b € [~1,1] -Sy= =8x +13 3"§L?3 +h
€ [1.5,2.1] and b € [-9, —6] -3 -3 s’
-8 3= 36 4+
C. me[-0.2,1.1] and b € [~12, —5] ‘/—sx-LSS_ 5
D. m e [-2,—0.9] and b € [13, 18] 2 ’ 3‘3—;'1=b %%'% =b
E. me[—1,3] and b € 5, 11] SLOPEIS %— -
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9. Solve the equation below. Then, choose the interval that contains the solutlon.Y
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—3(—4x — 10) = —9(—8z — 13)
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_ S3ETRD FENE0) = CDEEX)Y H-D-1R)Y
- |-1.45
Az €[-1.29,-0.99) I2x +30 = 32x 413
® e [-1.72,-1.35) ex = -l2x
C. z € [1.89,2.58 30 = EOx+1173
D. x € [-1.77,—1.5] =3 = “h3
E. There are no Real solutions. ~84 = 60x = -383 _ =x O —|.45 = = x

(00 <O

10. Solve the linear equation below. Then, choose the interval that contains the solution.
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Az €[~4,0] C(3x+S) =15 (4x-5) =1o( 3x+Y)
B. z € [2,4] N
@ 30x+30 — OX +3FS =30x+y40O
€ 10,2
z€ 0,2 -30x 105 = 30x +40
D. z €]0,2]

0 = ©O0x + Yo

E. There are no Real solutions. 65 = GOX

o _ x OR |.083=x
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